

$$y + \frac{y-3x}{2} + \frac{1}{2} - \frac{3}{2} = 0$$

$$y - \frac{3x}{2} - \frac{2}{2} = 0$$

$$y - \frac{3x}{2} - 1 = 0$$

$$2y - 3x - 2 = 0 \text{ Equation of the tangent}$$

$$y - y_1 = \frac{-1}{m} (x - x_1)$$

$$y + \frac{1}{2} = \frac{-1}{\frac{3}{2}} (x + 1)$$

$$y + \frac{1}{2} = \frac{-2}{3} (x + 1)$$

$$y + \frac{1}{2} = \frac{-2x}{3} + \frac{2}{3}$$

$$y + \frac{2x}{3} + \frac{1}{6} = 0$$

$$6y + 4x + 1 = 0 \text{ Equation of the normal}$$

4) $y = 1 + x - x^2$ at the point $(-2, -5)$

$$\frac{dy}{dx} = 1 - 2x$$

$$\frac{dy}{dx} \Big|_{x=-2} = 1 - 2(-2) = 5$$

$$y - y_1 = m(x - x_1)$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$\frac{42}{97}$
10-10
-10+5

Name: Ashika Michael Emmanuel
Department: Medicine and Surgery
Matr. No: M/MS01104
Course Code: ~~math~~ 104

1st April 2020

$$y = 2x^2 \text{ at point } (1, 2)$$

Solution

$$\frac{dy}{dx} = 4x$$

$$y_1 = 2, \quad x_1 = 1$$

$$\left. \frac{dy}{dx} \right|_{x=1} = 4$$
$$m = 4$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y = 4x + 2$$

Equation of the tangent

Equation of the Normal

$$y - y_1 = m(x - x_1)$$

$$m_1 m_2 = -1$$

$$y - y_1 = \frac{-1}{m_1} (x - x_1)$$

$$y - 2 = \frac{-1}{4} (x - 1)$$

$$ax + y = 3$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$y - \frac{1}{3} = -\frac{x}{9} + \frac{1}{3}$$

$$y + \frac{x}{9} - \frac{1}{3} - \frac{1}{3} = 0$$

$$y + \frac{x}{9} - \frac{2}{3} = 0$$

$9y + x - 6 = 0$ Equation of the tangent

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - \frac{1}{3} = \frac{-1}{-\frac{1}{9}}(x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

~~$$y - \frac{1}{3} = 9x - 27$$~~

$$3y - 1 = 27x - 81$$

$$3y - 27x + 80$$

Equation of the normal

$$y+5 = \frac{-1}{5}(x+2)$$

$$5y+25 = -x-2$$

$$5y+x+27=0 \quad \text{Equation of the normal}$$

$$y = \frac{1}{x} \quad \text{at the point } (3, \frac{1}{3})$$

solution

$$\frac{dy}{dx} = -\frac{1}{x^2}$$

$$\frac{dy}{dx}$$

$$x=3$$

$$m = \frac{1}{9}$$

2. $y = 3x^2 - 2x$ at the point $(2, 8)$

Relative
 $\frac{dy}{dx} = 6x - 2$

$x = 2$ $y = 8$

$$\left. \frac{dy}{dx} \right|_{x=2} = 6(2) - 2 = 10$$

$m = 10$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x + 12 = 0$$

Equation of the tangent

Equation of the normal

$$y - y_1 = \frac{-1}{m} (x - x_1)$$

$$y - 8 = \frac{-1}{10} (x - 2)$$

$$10y - 80 = -x - 2$$

$$10y + x - 78 = 0$$

3. $y = \frac{x^{3/4}}{2}$ at the point $(-1, -\frac{1}{2})$

$$\frac{dy}{dx} = \frac{3x^{1/4}}{2}$$

(used quotient rule)

$$\left. \frac{dy}{dx} \right|_{x=-1} = \frac{3(-1)^{1/4}}{2}$$

$m = \frac{3}{2}$

$$y - y_1 = m(x - x_1)$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$y + \frac{1}{2} = \frac{3x}{2} + \frac{3}{2}$$